=% i1 A0 65~74%% | ToRLALE 65U LE| EEER |1sumrEnl REXR
R7TE7AX ENRIETCERSE 74,403 8,084| 10000, 18,084 24.31%| 17,880] 18.19%

3 3 1 ‘E’ b = = = = = =

TR | ExiE2 ‘@}TE’]E BT | B2 | ENEs | Eams | Eams| 3
FIEHRRE 452 530 0 931 463 391 316 170 3,253
CIEGESY eSS 40 61 0 78 48 32 17 15 291
R EEE 412 469 0 853 415 359 299 155 2,962
F2EWRIRE 2 12 0 12 18 9 4 3 60
& &t 454 542 0 943 481 400 320 173 3,313
B L\ AO 65~745% | 755LILE |65 LI LR BRMER [1snarsk| BEx
R7H7TAX ENHEBETCEHF 17,591 2,797 2,986 5783 32.87% 5,760 13.63%

Py Ty 1 ‘El b = = = = = =

BEXR1 | EXiR2 %};fmg ENE | ENE2 | ENE3 | ENE4 | ENES &t
FIEHRRE 117 108 0 232 111 81 85 51 785
AT S E 10 11 0 18 9 8 6 6 68
By sEHnE 107 97 0 214 102 73 79 45 717
F2EWRIRE 0 5 0 2 1 1 4 2 15
& &t 117 113 0 234 112 82 89 53 800
HO=HT AQ 65~745% | 75mLLLE [65mLILE| B#ER SwnrwEy RBEXR
R7TE7AX ENEZTCEHEBSE 25,727 3,574 5,142 8,716| 33.88% 8,659| 18.80%

3 3 1 ‘fgl M = = = = = =

EXE1 | EXiE2 ﬁ;;?f ENE1 | ENE2 | ENES | ENE4 | ENES | A

ASZ

FIEHRRE 217 246 0 515 224 166 172 88 1,628
A S EE 25 26 0 34 14 19 14 7 139
B SEHE 192 220 0 481 210 147 158 81 1,489
F2EWRIRE 2 5 0 7 8 4 2 2 30
& &t 219 251 0 522 232 170 174 90 1,658
L I ET Ad 65~74i% | 75mLLL |65MLILE| BEER |1SHRRES REX
R7E7IAX ENEZETCERSE 9,942 1,163 1,387 2,550  25.65% 2543  16.67%

=3 =3 1 ‘E’ M = = = = = =

mxig | Exge |FR% m0m0 | mome | moms | mama | Eals | B

ASZ

FIEHRRE 47 60 0 115 65 72 43 22 424
CIEGISY e 10 10 0 8 4 5 4 4 45
R EEE 37 50 0 107 61 67 39 18 379
F2EWRIRE 1 2 0 0 2 0 1 0 6
& &t 48 62 0 115 67 72 44 22 430
tHEe A5t N =| 65~745% | 7oL |65 LR EEER [1SumrEn| REX
R7TE7AX ENEIETCERSE 127,663 15618 19515 35,133| 27.52% 34,842 17.48%

zxig | Exge |FRU% 20w | mome | Eoms | Bama | Bals | M
FIEHRRE 833 944 0 1,793 863 710 616 331 6,090
CIEGISY eSS 85 108 0 138 75 64 41 32 543
By SEnE 748 836 0 1,655 788 646 575 299 5,547
F2EWRIRE 5 24 0 21 29 14 11 7 111
& &t 838 968 0 1,814 892 724 627 338 6,201




=% i1 A0 65~74%% | ToRLALE 65U LE| EEER |1sumrEnl REXR
R7EH6AX ENRIETCEHERSE 74,384 8,102 9,961 18,063 24.28% 17,861 18.19%

3 3 1 ‘E’ b = = = = = =

BEYiE1 | EXig2 %}?E’]g ENE | ENE2 | ENES | ENEL | ENES it
FIEHRRE 454 533 0 934 470 387 306 165 3,249
CIEGESY eSS 43 60 0 78 49 31 16 13 290
R EEE 411 473 0 856 421 356 290 152 2,959
F2EWRIRE 2 12 0 11 18 8 5 4 60
& &t 456 545 0 945 488 395 311 169 3,309
B L\ AO 65~745% | 755LILE |65 LI LR BRMER [1snarsk| BEx
R7F6AXR ZENHERETEHF 17,581 2,807 2973 5780 32.88% 5759 13.53%

Py Ty 1 ‘El b = = = = = =

BEXR1 | EXiR2 %};fmg ENE | ENE2 | ENE3 | ENE4 | ENES &t
FIEHRRE 115 109 0 234 107 78 85 51 779
AT S E 12 13 0 18 10 8 6 6 73
By sEHnE 103 96 0 216 97 70 79 45 706
F2EWRIRE 0 5 0 2 1 1 4 2 15
& &t 115 114 0 236 108 79 89 53 794
HO=HT AQ 65~745% | 75mLLLE [65mLILE| B#ER SwnrwEy RBEXR
R7E6AX ENEZITCEHEESE 25,686 3,595 5,119 8,714 33.93% 8,657 18.66%

3 3 1 ‘fgl M = = = = = =

EXE1 | EXiE2 ﬁ;;?f ENE1 | ENE2 | ENES | ENE4 | ENES | A

ASZ

FIEHRRE 211 244 0 516 227 163 166 88 1,615
A S EE 23 25 0 34 13 18 14 7 134
R SEE 188 219 0 482 214 145 152 81 1,481
F2EWRIRE 2 4 0 6 8 5 2 2 29
& &t 213 248 0 522 235 168 168 90 1,644
L I ET Ad 65~74i% | 75mLLL |65MLILE| BEER |1SHRRES REX
R7#6AX ENEZTCERSE 9,949 1,170 1,379 2,549  25.62% 2,540  16.65%

=3 =3 1 ‘E’ M = = = = = =

mxig | Exge |FR% m0m0 | mome | moms | mama | Eals | B

ASZ

FIEHRRE 48 61 0 112 64 73 44 21 423
CIEGISY e 10 11 0 7 4 5 4 4 45
R EEE 38 50 0 105 60 68 40 17 378
F2EWRIRE 1 1 0 0 1 0 1 0 4
& &t 49 62 0 112 65 73 45 21 427
tHEe A5t N =| 65~745% | 7oL |65 LR EEER [1SumrEn| REX
R7EH6AX ENRIETCEHERSE 127,600 15674| 19432| 35106| 2751% 34817 17.42%

zxig | Exge |FRU% 20w | mome | Eoms | Bama | Bals | M
FIEHRRE 828 947 0 1,796 868 701 601 325 6,066
CIEGISY eSS 88 109 0 137 76 62 40 30 542
By SEnE 740 838 0 1,659 792 639 561 295 5,524
F2EWRIRE 5 22 0 19 28 14 12 8 108
& &t 833 969 0 1,815 896 715 613 333 6,174




=% i1 A0 65~74%% | ToRLALE 65U LE| EEER |1sumrEnl REXR
R7 58X ENRETCEHEESE 74,390 8,108 9,957 18,065 24.28% 17,856 18.15%

3 3 1 ‘E’ b = = = = = =

BEYiE1 | EXig2 @%mg ENE | ENE2 | ENES | ENEL | ENES it
FIEHRRE 450 531 0 920 475 383 312 170 3,241
CIEGESY eSS 43 59 0 77 46 32 15 14 286
Y SEnE 407 472 0 843 429 351 297 156 2,955
F2EWRIRE 2 12 0 12 17 8 5 4 60
& &t 452 543 0 932 492 391 317 174 3,301
B L\ AO 65~745% | 755LILE |65 LI LR BRMER [1snarsk| BEx
R7 £5AKX ENHRETERF 17568 2810 2972 5782 32.91% 5758  13.62%

Py Ty 1 ‘El b = = = = = =

BEXR1 | EXiR2 %};fmg ENE | ENE2 | ENE3 | ENE4 | ENES &t
FIEHRRE 116 108 0 234 108 82 83 53 784
AT S E 12 12 0 18 11 8 5 5 71
By sEHnE 104 96 0 216 97 74 78 48 713
F2EWRIRE 0 5 0 2 1 1 5 2 16
& &t 116 113 0 236 109 83 88 55 800
HO=HT AQ 65~745% | 75mLLLE [65mLILE| B#ER SwnrwEy RBEXR
R7 £5A K ENERTEYF 25,689 3,610 5,104 8,714 33.92% 8,656 18.40%

3 3 1 ‘fgl M = = = = = =

EXE1 | EXiE2 ﬁ;;?f ENE1 | ENE2 | ENES | ENE4 | ENES | A

ASZ

FIEHRRE 206 236 0 511 227 169 164 80 1,593
A S EE 25 23 0 32 14 19 14 7 134
BEEENE 181 213 0 479 213 150 150 73 1,459
F2EWRIRE 2 4 0 6 9 6 2 2 31
& &t 208 240 0 517 236 175 166 82 1,624
L I ET Ad 65~74i% | 75mLLL |65MLILE| BEER |1SHRRES REX
R7 £5A%k ENEZTCERSE 9,922 1,171 1,376 2547  25.67% 2541  16.49%

=3 =3 1 ‘E’ M = = = = = =

mxig | Exge |FR% m0m0 | mome | moms | mama | Eals | B

ASZ

FIEHRRE 46 61 0 109 66 73 42 22 419
CIEGISY e 10 13 0 6 6 4 3 4 46
R EEE 36 48 0 103 60 69 39 18 373
F2EWRIRE 1 1 0 0 1 0 1 0 4
& &t 47 62 0 109 67 73 43 22 423
tHEe A5t N =| 65~745% | 7oL |65 LR EEER [1SumrEn| REX
R7 5%k ENBIETCEHEESE 127,569| 15699 19,409 35,108| 27.52% 34,811 17.34%

zxig | Exge |FRU% 20w | mome | Eoms | Bama | Bals | M
FIEHRRE 818 936 0 1,774 876 707 601 325 6,037
CIEGISY eSS 90 107 0 133 77 63 37 30 537
By SEnE 728 829 0 1,641 799 644 564 295 5,500
F2EWRIRE 5 22 0 20 28 15 13 8 111
& &t 823 958 0 1,794 904 722 614 333 6,148




BT AO 65~74%% | 75mLIE [65mLIEE| BHEER 1snnkEy| BEX
g E rE , s , , . () s . ()
R7 F4AX ENBETCEHEESE 74,355 8,099 9,959 18,058| 24.29% 17,859  18.13%

3 3 1 ‘E’ b = = = = = =

TR | ExiE2 ‘@}TE’]E BT | B2 | ENEs | Eams | Eams| 3
FIEHRRE 448 533 0 930 471 377 303 176 3,238
CIEGESY eSS 46 59 0 74 43 32 13 14 281
R EEE 402 474 0 856 428 345 290 162 2,957
F2EWRIRE 2 12 0 13 16 7 5 4 59
& &t 450 545 0 943 487 384 308 180 3,297
B L\ A0 65~74%% | 75 |65 LI LET| BREER [1snarek| REZ=
R7 4R R ENEBRTERF 17,562 2,823 2,952 5775 32.88% 5,751 13.58%

Ty Ty 1 ‘El b = = = = = =

BEXR1 | EXiR2 %};fmg ENE | ENE2 | ENE3 | ENE4 | ENES &t
FIEHRRE 117 110 0 228 110 85 80 51 781
ATEASEE 13 12 0 17 10 8 5 5 70
By sEHnE 104 98 0 211 100 77 75 46 711
F2EWRIRE 0 4 0 2 1 1 5 2 15
& &t 117 114 0 230 111 86 85 53 796
HOoZ=HT A0 65~74%% | 5EmLILE |65 LI LR EREE [1swumrey| RE=
R7 F4AX ENEZITHEESE 25,699 3,614 5,105 8,719 33.93% 8,666 18.29%

3 3 1 ‘fgl M = = = = = =

EXE1 | EXiE2 ﬁ;;?f ENE1 | ENE2 | ENES | ENE4 | ENES | A

A

FIEHRRE 195 241 0 504 230 167 168 80 1,585
A S EE 23 23 0 32 13 18 14 9 132
B SEHE 172 218 0 472 217 149 154 71 1,453
F2EWRIRE 2 4 0 6 9 6 2 2 31
& &t 197 245 0 510 239 173 170 82 1,616
&R AQ 65~74%% | 75mLIL |65 LI LR SMEE |1enskEn| AEE
R7 F4A%X ENEETCEHEESE 9,917 1,175 1,368 2,543  25.64% 2538 16.31%

=3 =3 1 ‘E’ M = = = = = =

EXIE1 | ERED ﬁ‘;gg% BN | ENE2 | EN®s | Eams | Eams | &t

A

FIEHRRE 43 61 0 107 69 70 44 20 414
RIS R 8 12 0 6 6 4 3 4 43
R EEE 35 49 0 101 63 66 41 16 371
F2EWRIRE 1 1 0 0 1 0 1 0 4
& &t 44 62 0 107 70 70 45 20 418
e A5 A0 65~74%% | 75mLIE |65 LI EE| BHEER 1surrEy| BEX
R7 F4AX ENBIETCEHEESE 127533 15,711 19,384 35095 27.52%| 34,.814| 17.29%

zxig | Exge |FRU% 20w | mome | Eoms | Bama | Bals | M
FIEHRRE 803 945 0 1,769 880 699 595 327 6,018
CIEGISY eSS 90 106 0 129 72 62 35 32 526
By SEnE 713 839 0 1,640 808 637 560 295 5,492
F2EWRIRE 5 21 0 21 27 14 13 8 109
& &t 808 966 0 1,790 907 713 608 335 6,127




